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5 - -b
19. p(75) - g(10) & |

20. p(5) - g(-5) _— 3
h-9

uation, draw a graph, indicating at least 5 points. Then tell its domain, its range, and other requested

For each eq
information

22. f(x)= ;“%5-!'1

21.

3 _ |

g(-4) = Changed from parent:

'HAJ$J_“_ _QL_W

23. There is a relationship between the radius oZ:m orbit and the time of one orbit for the moons of Saturn. The
.\
table below lists data for 11 of Saturn's 30 moons. Round answers to the hundr lace.

thess | Pondors | Epmethass | Jun | inas | Eveldis | Tevys | Dine | Fiers™

Raduus 138 142 151 [ 151 3.77 | 3.77 527
(100 000 km)

o6 [ o6 | oé9 om0 osa| 157 | i85 |27 27| amm

a. Find the power function model for the data for orbital time versus radius. -'3:,'
?( \\ A & ‘ ‘4 5 d
b. Predict the orbital radius of Titan, which has orbit time of 2 days. K =) ‘l«"" E ' aﬁs
- A%t F00m 0. Imioe
_ N Toom 0. insersecd
C. Find the orbital time for Phoebe, which has an orbit r'adius of 12.,952,000 km. M_
\l , ' L w _ m 12952000 %=

24. Write an equation for the Transkrtionmof 5 = — that has the asymptotes x = -3 andy = -7. 100 000 = 129,
X g [0 . .:}_ \l‘(m
¥+3
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T , y} i range.
' Write a piecewise function for the following graphs. Then determine their domain and rang

20, 26.
l _ - f Sm\"'e&" A i
i 1((14") "?— % j TR
i ap fm;,&aa g gt RETR L?os 6
! (0,0) > W - (5,
E v, 3)@10 f(x)-f V(L'"l 3XLZ'
% . > jRE —Y 433X 4
? D ——&— ) M 5 ___E____‘SE %(—oo,w K-

- ' o e
Solve the follgring. “Show all your workl Use separate paper, if needed. SP(V“ E’l a4 4 -2= 174

¥ _ L 2P 3= : -
Jx+ 14 ===6r---?_1tﬁ)’l - A “6“" 28. (x+2) +51 Y y T 0-3:21 Y
XH4=%- 32250 S X- (9% A=A

29.
RE—20x +25 =0
6—6\1"“*5):0 ol { T - ' );e\\
S(x-5)(x -)=0 R L Pl
. _E e YR - 32. T 1t Tin an electrical conductor varies
31, Find x wheny =3, if y varies nyersely as x and 32 The cu_rren'ry. van elec . aries
x = 6 wheny = -18 (N |‘5) ( (p’ l‘é) _ l_r_lggr;s,d;LMﬂ_'\ f:\e resistance QLc-f ﬂ'!e condu-cto.r.
_ The current is 1 amps when the resistance is 360 Q.
¥ 5208 Iy g e -
| X Use this information to write an equation to model
b\‘ﬁ’;\“ Ay the relationship. \{-— "4 300 = K L =120
' v T

Identify the data in eacﬁ table as a direct variation or an inverse variation. Then write an equation to
mode! the data. ' ' \L\\:P ) | '
33 34,




